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Grammar 

     Q.1 Do as Directed  (8M) 

a) Ans.The audience burst in peels of..laughter....(laugh).(Fill in the blank with abstract noun 

) 

b) Answer cannot solve any problem.It is a problem in..itself.....(Fill in the blank with 

reflexive pronoun) 

c) Ans.Shalini is a ...sensible....(sense) girl.(Fill in the blank with suitable adjective formed the 

word given in the bracket) 

d) Ans.I have two older brothers. .....elder....  (Underline the error in the sentence and write 

the correct word in the space provided) 

e) He sings well.(Change the following sentence in to negative form) 

Ans.     He does not sing well. 

f) Ans.We usually....grow...(grow) vegetables in our garden,but this year,We .are not 

growing ..(not grow) any.(Fill in the blank with correct form of verbs by using Simple 

Present or Present Continuous Tense) 

g) Ans.You are learning French for two months. ( Correct and Re- write the sentence after 

marking an error) 

Ans.You have been learning French for two months. 

h) Change the voice- I.She sings a song.  

Ans. A song is sung by her. 

  II.  They do not complete their work.  

Ans. Their work is not completed by them. 

LITERATURE (7 M) 

Q.2.Read the extract and answer the questions . 

He wore a question mark for tail,  

an overcoat of gray, 

he sat up straight to eat a nut. 

he liked to tease and play, 

and if we ran around his tree, 

he went the other way. 

a) Why does the poet say the squirrel  “wore a a question mark for tail?” 

Ans. The poet said that the squirrel “wore a question mark for a tail” because its tail is twisted 

,appearing like a question mark. 

b) Who is teasing whom and how? 



Ans.The poet liked to tease and play with the squirrel. Whenever the poet went a little close 

to the squirrel, the squirrel would run away in the other direction. 

c) Which poetic device is used in the  given extract? 

Ans. Alliteration  is used in the given extract. eg. he sat up straight 

Q.3. Answer the following questions .(40-50 words) 

a) Why did the king want to know the answers of three questions? 

 Ans.The king wanted to know the answers to the three questions                                  because he 

thought that he would never fail once he knew the answers to the questions. 

b) What do you know about Gopal? 

  Ans.Gopal is a courtier of the king‘s palace and he is the wisest among all. 

c)How did Kari enjoy his  morning bath in the river? 

Ans.Kari lay for a long time in the river and on the sand and let the author rub his back. Also, he 

squealed with pleasure when his friend rubbed water down his back.  

d) In what ways  is an ant’s life peaceful?  

Ans Each ant does its share of work.No ant ever fights with other members of the group. There are 

hundred of rooms in each anthill. Workers and soldiers have separate quarters and barracks. All 

live peacefully in their places. Thus an ant’s life is considered peaceful. 

 

 

 


